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4. Find all z for which the tangent line to f(z) = zIn(z) — 5z is horizontal at (2, fla)).
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4. Find all 2 for which the tangent line to f(z) = 3z + zIn(z) is horizontal at (z, f(z)).
Solve. +'x) =0 < 4
3+)Q/Y\(><3+?C}<"' e et “— 4 vt
3+xy +1 =0 '

/ﬁn(x) = e %Pt'
€/@r\(><) =




Name: ﬂul‘«a/uj Quiz 11 & MATH 200

October 10, 2022
w
—
1. I u=1n[4ew—w|,theniu—': L(e
dw W)
Te - w |\

——r—

i -

2. %[(ln(:c)+x)2]= Q(BA(%) 4—%)_[?! +1 ) :/Q\{ﬂﬂ&“%)(}% = )/

L (=gt = (sl (-5

1+ In|z|
3. Dx[1—1n|’£|}_ (l,_jm!xl )2_
L e ! + 4 +-«Q/MX\ “ _ "—#—_‘2
- _X ¢ b4 )(M _ =3 _ ___________________.--—--L
(1= Daixd )2’ ((‘_IQM\X\)L x([.~f/v\\)§\)

Jp—

4. Find all 7 for which the tangent line to f(z) =z +In (2?4 1) is horizontal at (z, f(z)).
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4. Find all z for which the tangent line to f(z) = = Z b (22% +8) is horizontal at (z, f(x)).
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